Soustraction Avec Des Zeros (C)

1000
- 815

1000
- 687

10 000
-9 469

1000
- 924

1000
-925

100
-71

1000
- 592

Calculez la différence.

10 000 100
- 5098 -92
100 100

- 44 - 58
1000 10 000
-161 -5103
100 1000

- 35 -905
10 000 10 000
-3 116 - 44
1000 10000
- 660 - 3837
100 10 000
-96 -8199

100
- 84

1000
- 486

10 000
-3110

1000
- 437

1000
-401

100
- 40

1000
-610
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Soustraction Avec Des Zéros (C) Réponses

1000
- 815

185

1000
- 687

313

10 000
-9 469

531

1000
- 924

76

1000
-925

75

100
-71

29

1000
- 592

408

Calculez la différence.

100
- 84

16

1000
- 486

514

10 000
-3 110

6 890

1000
- 437

563

1000
-401

599

100
- 40

10 000 100
- 5098 -92
4902 8
100 100

- 44 - 58
56 42
1000 10 000
-161 -5103
839 4 897
100 1000

- 35 -905
65 95

10 000 10 000
-3 116 - 44
6 884 9956
1000 10 000
- 660 - 3837
340 6163
100 10 000
-96 -8199

4 1801

60

1000
-610

390
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